Proposition [ Poisson thinning]: let SN(t): t20} be a Poisson process and suppose that its events are independently labelid: · type 1 with probability p, and • type 2 with probability 1-p. let N1(+) = # type I events by timet, and N2(t) = # type 2 events by true t. Thom, N1 and N2 are independent Poisson processes of ratos  $\lambda p$  and  $\lambda(1-p)$ , respectively. Proof: Exercise: show that N, and Nz satisfy the second défruition, i.l. properties (1)-(4). Also, cf. Ross Prop.5.5. Example: Innuigrants arrive at a Poisson process with rate 10/week. Each immigrant is of English descent w.p. 1/12. What is the probability that no people of English descent will emigrate in February (4 weeks)? Solution: By the previous proposition, # of people of English descent who immigrate is a Poisson process with rate  $\frac{1}{12} \times 10 / week \Rightarrow P_{oisson}\left(\frac{10}{12}t\right) = P_{oisson}\left(\frac{10}{12}\times 4\right) = P_{oisson}\left(\frac{10}{3}\right)$ P ( # of people of English descent immigrate in Feb) = D)  $= \frac{\binom{10}{3}^{\circ} e^{-\frac{10}{3}}}{\sqrt{1}} = e^{-\frac{10}{3}}.$ Remark: The previous proposition easily generalizes to K23 types of events.

Reware: The labeling here follows a distribution independent of time. But we may also be interested in applications Where the classification of an event depends on the time it occurs: Example (Ross Example 5.20): Suppose individuals contract a virus as a rate- & Poisson proces. Duce au individual is infected, there is a incubation period before symptoms appear, such that the incubation time is roudous and independent for different individuals. At time t we can these dassity: N. (t) = # people infected with symptoms N2(t) = # people infected with no symptoms. An important question is thus, can we estimate N2(t)? Before solving such types of problems, we need more results on how arrival times of Poisson processes are jointly distributed. · Conditional distribution of arrival times let N(t) be a rate-2 Poisson process. B: Suppose we know N(t)=1. When T<sub>a</sub> s t did the event in [0,t] occur? A:  $P(T_{1} < s | N(t) = 1) = \frac{P(T_{1} < s, N(t) = 1)}{P(N(t) = 1)} = \frac{P(N(s) = 1, N(t) - N(s) = 0)}{P(N(t) = 1)}$  $= P(N(s) = 1) P(N(t) - N(s) = 0) = X_{s} e^{-\lambda s} \cdot (\lambda(t-s))^{e^{-\lambda(t-s)}} = \frac{s}{1}$ 

P(N(t)=1) At enter 
$$T_{1}$$
 given N(t)=1  
=> The conditional distribution of  $T_{1}$  given N(t)=1  
is  $\frac{d}{ds} P(T_{1} \leq s \mid N(t) = 1) = \frac{1}{t}$ ,  $\forall s \in C_{0}, t$ .  
=>  $(T_{1} \mid N(t) = 1)$  is Uniform  $(C_{0}, t)$  [!!!

D: More generally, let S. Sz, ..., Sn Ge the first n annal times. What is their joint pdf conditional on N(t)=n? Theorem: Gren that N(t)=1, the n arrival times S1,..., Sn have the same distribution as the order statistics corresponding to nindependent random variables meiformly distributed on the interval [D,t]. Definition: let Y1,..., Yn be v.v.'s Their order statistics Yui, Jizi, ..., Jun are the values of Ju, ..., In in increasing order. Example : If  $y_1 = 5$ ,  $y_2 = -3$ ,  $y_3 = 1$ ,  $(y_{(1)}, y_{(2)}, y_{(3)}) = (-3, 1, 5)$ The joint density of the order statistics Y (1), ..., Y (m) is  $f(y_1, -y_n) = n! \frac{1}{1!} f(y_1), \quad y_1 < y_2 < \cdots < y_n$ Because · (y(1), ..., J(n)) = (y, ..., yn) (=> ] a permentation or s.t.

$$(\mathcal{Y}_{1}, \dots, \mathcal{Y}_{n}) = (\mathcal{Y}_{\sigma(1)}, \dots, \mathcal{Y}_{\sigma(n)})$$
  
• The probability density that  $(\mathcal{Y}_{1}, \dots, \mathcal{Y}_{n}) = (\mathcal{Y}_{\sigma(1)}, \dots, \mathcal{Y}_{\sigma(n)})$   
is  $\prod_{i=1}^{n} f(\mathcal{Y}_{\sigma(i)})$ .

Since ture are n! parametetions, 
$$f(y_{11}, y_{11}) = n! \prod_{i=1}^{n} f(y_i)$$
.  
If the  $y_i$  are uniformly distributed over  $[0, t]$ , then  
 $f(y_{11}, y_{11}) = n! \frac{1}{t^n} = \frac{n!}{t^n}$   
Proof of Theorem: We will show that the joint density of  
 $S_{11}, \dots, S_n$  given  $N(t) = n$  is  $f(s_{11}, \dots, s_n|N(t)=n) = \frac{n!}{t^n}$ .  
 $0 = \sum_{i=1}^{N} \sum_{j=2}^{N-2} \sum_{j=1}^{I-3} \sum_{j=1}^{N-2} \sum_{j=1}^{N-2} \sum_{j=1}^{I-3} \sum_{j=1}^{N-2} \sum_{j=1}^{N-2} \sum_{j=1}^{I-3} \sum_{j=1}^{N-2} \sum_{j=1}^{I-3} \sum_{j=1}^{N-2} \sum_{j=1}^{$